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Answer ALL questions.
PART A — (10 x 2 = 20 marks)

1.  What is companding? What are the two types?
2. What is the need for bit stuffing?
3. What is the condition for zero ISI?
4. What is the purpose of using eye pattern?
5.  What is M-ary signalling scheme?

6. What are the two important factors for determining bandwidth efficiency of a
pass band transmission system?

7. What are the properties of syndrome?
8.  Define BCH code.
9.  What is meant by correlation property?

10. Define Gold Theorem.
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Explain the process of quantization, encoding and decoding in PCM. (16)

Or
(i) Explain in detail the generation of detection of PAM signal. [€:)]
(ii) Explain with neat diagram the working of TDM system. €]
Derive .the average probability of error in a baseband transmission
systent. (16)
Or

Digital data is transmitted through a base band system with No =
107 w/Hz, the received pulse amplitude A = 20 mV.

(i)  If 1 kbps is the transmission rate, what is probability of error?

(ii) If 10 kbps are transmitted, what must be the value of A to attain
the same probability of error?

Eiplain in detail the working of noncoherent FSK modulation. (186)
Or

What is the need for carrier synchronization? Explain the different modes
of carrier synchronization. Describe the carrier synchronization methods

used in Digital modulation system. (16,
The (7, 4) linear code whose generator matrix is ) (16
1101000
gu0110100
111001 0
1010001

(1)  Find all the code words of the code.
(ii) Find H, the parity-check matrix of the code.
(iii) Compute the syndrome for the receiver vector 110110 1.
(iv) What is the error correlating capability of the code?
Or

Design a feedback shift register encoder for an (7, 4) cyclic code with
generator g{x)=1+x+x". Use the encoder to find the codeword for the
message 1 0 11 in systematic form. ’ (16
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Or

(b) Derive the expression for probability of error for direct sequence spread
BPSK system. (16)




